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Solutions to bsp-5653-3/DYVV

Worksheet

Problem quickname: 5653

1)

Complete the table by filling in the empty spaces.
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5190 590 five hundred ninety
5154 554 five hundred fifty-four
21318 238 two hundred thirty-eight
0410 40 forty

51615 565 five hundred sixty-five
31815 385 three hundred eighty-five
91412 942 nine hundred forty-two
21014 204 two hundred four
8|16 816 eight hundred sixteen
91519 959 nine hundred fifty-nine
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Solutions to bsp-5653-3/DYVV

Complete the table by filling in the empty spaces.

2 8
= Og Number | Word
5|6 56 fifty-six
810 80 eighty
6|3 63 sixty-three
5195 55 fifty-five
319 39 thirty-nine
915 95 ninety-five
714 74 seventy-four
0|4 4 four
6|1 61 sixty-one
419 49 forty-nine
3)
Complete the table by filling in the empty spaces.
3
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ES = 5 Number | Word
1194 194 one hundred ninety-four
01210 20 twenty
11811 181 one hundred eighty-one
11113 113 one hundred thirteen
1171 171 one hundred seventy-one
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4)
Complete the table by filling in the empty spaces.
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T | 2| O | Number | Word
41919 499 four hundred ninety-nine
984 984 nine hundred eighty-four
124 124 one hundred twenty-four
6/1]0 610 six hundred ten
1112 112 one hundred twelve
Good Luck!
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